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Depreciation قدر میں کمی



Section No :33
Initial Allowance  ابتدائی الاؤنس



Eligible depreciable asset” means a depreciable asset other than

(a) any road transport vehicle unless the vehicle is plying for hire; 

(b) any furniture, including fittings; 

(c) any plant or machinery1[that has been used previously in 

Pakistan]; or 

(d) any plant or machinery in relation to which a deduction has been 

allowed under another section of this Ordinance for the entire cost of 

the asset in the tax year in which the asset is acquired.
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THIRD SCHEDULE



SECTION 23B.
Accelerated depreciation to 
alternate energy projects

متبادل توانائی منصوبوں میں قدر میں تیزی





SECTION 24.
Intangibles غیر محسوس









A= Cost of Intangible    Rs : 1000000
B= Use full Life                10 Years 

Rs : 1000000
10 Years 



A
B

A= Cost of Intangible    Rs : 1000000
B= Use full Life                10 Years

Rs : 1000000
10 Years 



A
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A= Cost of Intangible    Rs : 1000000
B= Use full Life                10 Years

Rs : 1000000
10 Years 

Rs : 
100000
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B=  the number of days inTax Year intangible is used 

A=

C = is the number of days in the tax year.
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B=  the number of days inTax Year intangible is used 

A=

C = is the number of days in the tax year.

A x B/C 



A
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B=  the number of days inTax Year intangible is used 

A=

C = is the number of days in the tax year.

A(100000 Rs) x B (50 Days)
C (365) 
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